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Area of rectangle is q_t'x,,'i;b’gf'-’
2O lexp @ Jexb ® £xb W

Points lying on the same line are called A PN
Overlapping J* (D) Equal (sls (C) Collinear (7 (B) Noncollinear (% (A

va= a2 isasudoforder ¢2u¥ Va = a'/z 1o
B 2@ 1® oW

If P =x"-2x"+5x+1 then P(1) = £xP(1) JnP@=x'-222+5x+1 S
om -7 -5@® 5 W

Product of two expressions = = S bb’u}fd}-l»

HCFXLEM Pex Fiiws (@ LM Fidwis®  HCF Pk ()
H.CF +L.CM i+ Fi e (D)

Angle ‘a’ is a‘a’ gl
40° (D) 0(C) Rightangle LU0 (B) 140° (A)

Volume of a cube withadge * € ° is ‘e’ UWU"zb’Ju_ﬂ
£2m @ 3£® £ W

(a—b)(a’+ab+b)) =1 (a—b) (@ +8b+b) =1
2 M G+’ © (- @ - W

Factorization of (x +3)—4 is e (+3Y-4
G-1D(x=5) M G&G+D(-5 ) G-D(x+5 @ &+D&+5) A

The number of methods o find the H.C.F &6 .. PRSI LS5
3 2@ 1® 4W

Solutionof |x|=3 is ez f¥ | x|=3
+3 @M -3 @ o ® 3@

Factorization of 2x”—3x is &R g 2x%-3x
3x-22* M 2¢-3x (© x(x-3) B) o0 W

If A'=-A , then Aiscalled et A In A'=-A N

Squarematrix /88, (D) Transpose %'t} (C)  Skew symmetric ¥4 (B) Symmetric JE @
HIE 313 p 1 - QU Ul Us g S Lo &5

A polygon with four equal sides is called .......... and each angle isright angle _
Rectangle (D)  Square ¥,(C)  Parallelogram {7 (B)  Polygon LU &)

The number of perpendicular bisectors of the side of a trigngle is e Bt IJusLLunL ains”
4 3 © 2 ® 1(A)'
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210 = (Usl.0) 51 0 GENERAL MATHEMATICS (“LiJR
60 = AJ Do K- [~23 U tpa
Q.No.2 Write short answers to any Six of the following nm6=12 i fewzFLimge Skt Ay
Define proper rational expression and give one example Z e LinzEy Je& bty | i
If PG = 2x° + 2x* + x—1 find P(-2) g B(-2) In P =2+ 2% +x-1 | i
Solve the following question by using formula 8x’ + 27y3 8x + 27y3 c’fggf Py J U Sis dlr;tjb» iii
Define quadratic equation ’ ’ .é..é! ; Ji L? J,_?, Gue | iv
Factorize # +a-—3a’-3 a+a-3a-3 z:d;?’ v
Factorize X+ 5x-14 L+5x-14 Z¢f | vi
Factorize 1-343x° 1-3438° ZEGA | vii
Find H.CF by fuctorization 8xy’z’ , 12x°y’2’ txy’s , 1267 et M1bd s LR | i
Find L.C.M by factorization 3a't’’ , 52’’’ 32’ |, 5a0°C 21:’.’()“‘} Ikt a3 g’ k| ix
Q.No.3 Write short answers to any Six of the following 2x6= 12 L iz Bl ge Slitn 34
Solve: 9x-3=3(2x-8) - ox-3=3(0x-8) ZJ | i
Solve: [2x~-3| =5 ' 2x-3| =5 25 | i
Solve : X'—4x+12=0 L-4x+12=0 ZJ | ii
Solve: 2x = = +3 m=243 ZJS| v
Write the name of any two methods for solving a quadratic equation o (‘:&Uﬂ)u:—d/ LSS B | v
Define singular matrix C E S| vi
it A=[2 g] then what i the additive inverse of A v Fowad A" g] A i
Find the determinantof A= [ 150 j] A=| 150 :] 2k BB e | viil
Find the transpose of A = [__:i 2] A= [_i :] q’{r:""):;’l} ix
Q.No.4 Write short answers to any Six of the following 2x6 = 12 Z i fez Bl angepditn 4y

_ ?q_ﬂli’({ &Ll pets 30° il o s S F i | i
Two angles are supplementary and the greater exceeds the smaller by 30° . How many degrees are there in each angle ?

Zo 2l s S PG | i

- . PA nA‘ ; -
S Z . t ) Look at the given figure and answer the following questions
Pair of corresponding angles <J2Z Ugith A& (a)

Pair of vertical angles L.J‘z&u.gxuu‘ 1, (b)

Definc tangent of the circle and draw its diagram et o fSovwles | ii
Name the following triangles é{/’ rbéu?‘c’ St | iv

(i) With all the three sides equal in length U AR SEMUEL? @)
(i) None of the sides is equal to the other s2.42L8" el FSS Gi)

Define Altitude of triangle and draw a diagram Zg.mp Py Stoalas| v
fe sl I Bl T8, 72,30 LMLats’S | vi

If 30,72,78 ropresents the lengths of a sides of triangle. Is triangle a right triangle ?
n?t JUJ&“' 2l é(:"'},u’.:ﬁ,,:}'nﬂ&o'd,um vii

Find the hypotenuse of the right isosceles triangle each of whose legs is “e”

Find the distance between pairs of points (-1,3),(-2,-1) -1,9,(-2,-1) gEp Liohesliblits | vii
'What are Non-collinear points ? /7 S‘ugl.x]ﬂﬂ’déﬂ VARE:

(8_‘03)}) / /
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NOTE: Attempt any THREE questions from this part 8x3=24 ZLUrLdfaton S
1 1\2 1\% 1 o
1f 3 =V10+3 thon ovaluate (p-2) Zeredd (p-3) In S =VIOss Si| W 5.4l
q‘{rﬁ’w’l(!mml’ ?ﬂd/g};-._ﬁ SOl emd+12x49 A | B
If x*+ X +mx’+12x+9 isacomplete square then find the values of £ and m
Resolveinto factors x +324 X +324 bl Az | W-6AJr
Solve: x=15-2VX x=15-2Vx “’{J' 4:)]
Solve 10x”—5x = 15 by using quadratic formula S sl Kiund 1082 -5x=15 | W-1.4Jr
Use Cramer's rule to solve the sinmltancous equations x-3y=5 ’é.':d' St e 3 )EAS | (B)
2x—5y=9
. [‘; ;] o A'A=I SEetagieds A URUANA SLits | (-8 AUy
Find the inverse of given matrix A and showthat A'A=I « A= [é ;]
Construct a rectangle with sides 10 cm. and 6 con. U2l 6 mREF 10 WSS R ekt g | (B
e K2 23085 HKadUSU? gl AL | W-9AUr
A rectangular box with length 4 m , breadth 3 m and height 2 m. Find the volume of box
BIEaB AL C5,5) o B(-2,4),A4,-2) S ZEet | (B)

Show that the points A (4,-2), B(-2, 4) and C (5, 5) are vertices of an isosceles triangle
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15= A ax20=2d Py o s e PR
SAds m,.wﬁ»a:.,ty._m;utuuu2:4,,¢L«Ldtyﬂ4qr@f-w£4.;D,,:A B,C iz bellrs i
: o sl 2ud 3 fmsr S S S ML S stk -2 S| t
DG K-)~23 LAy
| @+B)*+a-b)?=? « e +G-b?=7| @
262+ )  48b (©)  a+b* (B)  -4ab (A)|
Surds can be multiplied, if they are of the - ums/i-e oo P06 | @
Ordern ( n 2» (D) Differentorder Uzsi® (C) Order 2 s (B) Sameorder Spsulf (A)
Factorization of a’ — 1 is 4;-6)!"! a'-1| (3
@E+DGE+1D) D) G+DE-1) © (GG-1DE*+ 15 ®B) G@-Da+1DE+1) W :
If x—a isa factorof P(x), then Pa) = eree O PQ T sz6 PG “ x—a Si| @ g
a®@ -2 @ 1® oW |
The number of methods to find. L.C.M are | BB LS Fiens | G5)
3 20 1® oW
Product of two expressions = = e ) VUMl | (6
HCFXLCM (Fhbx fiowts (©  Lem Siois®  meF b ()
 HCF+LCM (bt Fidkons ()
Any value oftho varisble which makes the equation a tru statement is called the ¢ (lfss « & Sozctewndablay2de | ()
| Varisble J** (D)  Solution Jf(C) Inequality sk (B) Equation wisls(A)
The symbol > stand for el > et | (®)
Less than and equal to ¢4l4ks-t# < (C) Greater than and equalto ¢sishi%< (B) Greaterthan ¢t%e (A |
Equal to ¢-42£(D)
A quadratic equation has a degree : : . gbapabatlagon | (9)
; 3@ o @ 1® 20@
Solutionof x'=1 is ¢ S¥ =1 10
{-1} O ({£i} © ({+1}® {1} W
Tn matrices (A+B)' = ? gbndsd £B s A UsF (A+B) | (11)
A‘B‘. M A+B' (© B ® A QW
An anglo containing moro than 180° and less than 360° is called bl e 360° Five 180° MBS il | (12)
Acute Angle gsiwk (D) * Straight Angle 2~ s (C) Obtuse Angle g0z 5 (B) ReflexAngle g (A)
The number of angle bisectors in a triangle is u!LxJ‘tLu.tsl}uﬂJ (13)
4 M 3 © 2 (8 1
Areaofa ﬁ'iangle when all the three sides are gi\.ren is q_&mlﬁ g JJLU‘I.UM(PL{JL& Stunyg L el | (14)
2 @) JsG-a)E-b(E-© © b @  Ibth W
Point on the axis do not lie in any | rmﬁu:‘frﬁ,g,ﬁyf (15)
Circle ## (D)  Quadrant 8, ()  Line & (B) Aplane (7 (A)
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910 =y (st o) 281 00 GENERAL MATHEMATICS  (S*}J2
60 = AS DGk -2-23 nigad
Q.No.2 Write short answers to any Six of the following 2x6=12 ZL:(]’ uLl.?/’? L;I?I{c.ufpbbu 2 / Jis
Simplity 2% e A .
Solve by using formula (3p + q +1)° Gp+q+1? ZEScsvilrk| ii
Define pure surds with example Szt y 25 ¢ Lot | i
Factorize 3ax + 6ay —Bby—4bx 3ax + 6ay—8by—4dbx ZE(F | iv
Factorize x°—7x + 12 X-Tx+12 &hdfeiz | v
Factorize a’b’ + 512 2’ +512 ZEGA | i
Find H.C.F by factorization 8xy’z’ , 12x’y’z’ 8xy’z’ , 124y'7 q{r:""r” I 2k | vii
Find L.C.M by factorization xyz , XY’z , XyZ Xyz , Xy'z , xyz' ‘ér)"gf IS5 2k | vidi
Define L.C.M Z /8 s | ix
Q.No.3  Write short answers to any Six of the following 2x6=12 Z 2P Lange Llits 3/
Solve 9x—3 =3 (2x—8) ZJSS ox-3=3(2%-8) | i
Solve 3(x—-2)<2x+1 ZS 3&x-D<2zx+1 | i
What is the law oftrichotomy et | i
Solve [x+ 1]-5=0 ZJS x+1]-5=0] iv
Define quadratic equation ' v Sl | v
Solve 2x*=3x ZJ 2=3x | vi
Define scalar matrix and give an example ’q*ésdt‘#ulq"{_g A ..JG').'.‘ vii
1fA=[i‘ 53],B=[2 Z] then find A + B Zpd* A+B In B=[z Uy A=[, 34| i
If A= [ ; _i],thenevaluatedetA i{)“d"b’A In A= [_ __4]ﬁ ix
Q.No.4 Write short answens o any Six of the following 2x6 = 12 ZE Bl anga Sdibs 4 ANy
Define semi circle Zw/hnmad | i
Define concyclic points gy Sibns | i
6 pe b S as S Lz |
Write down the angle marked with letter. Write whether the angles are complimentary or supplementary ?
) 6572 ~
Define medians of a triangle 2y Lol | iy
a1 LS QAL i Iutb RS | v
Find the hypotenuse of a right isosceles triangle whose legs are 8 cm
Write the Hero’s Formula i | vi
Write down the formula for the volume of right circular cylinder iy s b’(f Lo L) | vid
Define cube Zw 8| i
Find the distance between the following pair ofpoints (7,-2),(-2,3)  (7,-2),(-2,3) ¢ MlivhenZs63ks | ix
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NOTE: Attemapt any THREE quostions from this part 8x3=24 ZSUrL ko 2)

Show that the points A (6,1), B(2,7)and C(~6,~7) are vertices of a triangle

If x=2+\/§,thenﬁndtheva.luesof x-iandxz-*xlz q’{(ﬂ“:«ftf x2+xi2 ulx-i ?.nx=2+\/§ fl (A)-S./%'zd'-"
Find L.C.M by factorization x°+64 , x°- 16 X+64 , ¥-16 e Fiowimgd i | B)
Factorize m°®—n® m®—n® 2’;6;2’ AW -6. A1
Solve: x:B_x-;2<l+x-;—5 x:3_x;2<1+x-;5 £’J’ ®)
$Solveusingquadraﬁcfomnﬂa G+ &-D+G+5)&+2)=6 ZES cal Koo | W-1.4U1
; ; -2 471 71-5 =511 -1 5
Find the matrix product 5 =3 STz o b L ebuds | B
Solve using matrix inversion method Sx+6y=25 ,3x+4y=17 g‘{d' :....'a)l.y'ﬁ' V. | (A -8./:"7 Jiy
un R 3 s 4 ppdStun e L e | B)
Construct a rectangle whose adjacent sides are 4 cm. and 3 cm.
Find the area of equilateral triangle whose side is 8 m Zrb JHe RBE A AL | (A9 F Uy
UL &b I fE ) C-6,-T) s BR,7),A6,1) St | (B)
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